AH-1V/PHIH/CC-VIII/23

B. A. 4th Semester (Honours) Examination, 2023 (CBCS)
Subject : Philosophy
Course: CC-VIII
Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions of the following: 2x10=20
frsfie @ @ G e Ted Me 8

(a) What is meant by ‘argument’?
e e J @R

(b) What is class inclusion?
= Tegeadd IE A2

(c) What is meant by distribution of a term in a proposition?
B 0 ATl TS AR ?

(d) Give the definition of contradictory opposition.
faes RifdeR K& 7€

(e) What is existential import of a proposition?
TR ARG Sl I F @R

(f) What is standard form of categorical syllogism?
s SRS T P A2

(g) How is the figure of a categorical syllogism determined?
a3 Farers TEe e e e e

(h) Is the negation of a contingent statement form always contingent? Give reason for your answer.

aﬁmmmﬁmﬁmﬁmﬂ%@m?mmﬂwq%mr

(i) What is formal proof of validity?
134eIa PIASTS G FNF I 7
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(j) What is quantifier? What are its types?
sAfFies B A2 G FoAIE e
(k) What is bound variable? Give an example.
IFART IIE A7 GIH SHIZA WS |
(1) What is meant by ‘instantiation’?
THGFAY FECS F @RI ?
(m) What is a unit-class?
9T (M9 FE A2
(n) What is valid argument form?
@y e S FE A2
(0) What is a contradictory statement form?

Frol I/FAFE FIE A2

2. Answer any four questions of the following: 5x4=20
fsfoie @ T 517G o Tk 7S 8
(a) ‘No squares are circles.”— Does this proposition have a contrary? Give reason for your answer.

‘maﬁwwmr—ﬁaﬁmﬁﬁﬁmﬁsm?m@mamwaﬁmm

(b) Explain the rule of categorical syllogism with the helps of a suitable example the violation
of which leads to the fallacy of the illicit minor.

TP A (4 i aem A0 WK AFEIE T O TAYE THRIPR I A |
(c) Test the validity of the following syllogism by means of Venn diagrams:

There must be a strike at the factory, for there is a picket line there, and pickets are present
only at strikes.

(ofrEa AR Avd W e ([@awel ok 9 ¢
PRAFTS w3 €46 by, W G 223 BalrE. W3R 22 AT GG 439 B |

(d) Symbolise each of the following by using logical notations of propositional functions and
quantifications:

Toa 2tea’ AT W/ACAFS € TFF AT FE AoIT® I ¢
(i) Snake-bites are sometimes fatal.

FAofacea T FAE TANS 24 |
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(ii) Oranges and mangoes are nutritious.
I @R G 7 5|
(iii) Any girl is healthy, if she exercises regularly.
@ @I AR FrgRel &3, W 1 Fafreeta i |

(e) The conversion by limitation is not considered as valid in the Boolean interpretation. Explain

the reason with the help of a suitable example.
TR I e TREAE (e 9% 51 T 1| SoAYE GHRAPR ag Il it FA|
(f) Explain the need of quantification theory.

AR Sren dwEaEe! A FER |

3. Answer any two questions of the following: 10x2=20

RS @ e 76 amm Ted we ¢

(a) Use truth-table to determine the validity of the following arguments:

STl R Tod fEekE el [ FE

G (vV-~W)oX
WV ~X)
L~ (V- W)

545

(ii) (B -C)>((D:E)
BV-~D
»wOo~E
5+5

(b) Construct formal proof of validity for the following arguments:

Sisa Pl (O TPETS ol el 3 8

G To>U"V)
(UVV)DW
AT oW

di) (@x) Jx - K
(x) (Jx o Lx)
5 (3 Lx - Kx)
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(c) Determine the invalidity of the following arguments by the method of assigning truth values
545

S »
ATy BUAA Aufea wem faone ffentaz Wane faga 2

(i) So(T>o U
Vo(W>sX)
To(V-W)
~(T - X)

L SmU

(1) (3x) (Bx - ~ Cx)
(x) (Dx > ~ Cx)
- (x) (Dx = Bx)

(d) State and explain the principle of Universal Generalization. 10

Aff AmeTEay Tfehz 77fz o 2y me)




